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3reafiat & forw arseer /Instructions to the Candidates

3T EaRT 99 TG & Y& T 1T JHiA-S18aT 3T & TR 9 31! fofld T & fore smfya
o aram &1 Afy MT9eY 9a # i gfafSe Y & a1 s & ITER 3T deadn A8 w@d # ar
TOehT TR 3REeIehe] i Sresh]

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

FRA-T, 80 TAT & Fefel FRA-Gfecieht & &9 A § 3 adiem T 3afy 02 & § |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

IR faswedl afgd awdfass gHR & wee gt e @ % vw smwfeew w9 & @@y grem |

The questions will be objective type with four options out of which only one will be unambiguously correct.
Tcdeh U HIAT 04 3 gl 3R qcds aTod Ieal HTAT Teh 37 Hrer Suer |

Each question carries 04 marks and one mark will be deducted for each wrong answer.

99T & 3ol &t & ToTT 37T INTHANR Sear-qieeeht & Smeah|

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

HTIHT, SecR-giaeht & T 1T 35eeet & 38N, wmm*amtrrstﬂﬁrﬁaﬂwmm
W%m@amaﬁaﬁﬁmﬂﬁscﬂ T T AT |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

Teh 99+ o TT 31e¥es ScaX ITeld AT SATUaT |
Multiple answers for a question will be regarded as wrong answer.
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T EIV Hlel H FRcT T2A-GTEhT HI3 NTHAIR el et R HAfEse T4+ R forgan anfge|

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space
provided.

SR EcTeRT H JTYRT AT 2T Hal%Hich e g |

Enter your Name and Roll Number correctly in the question booklet.

FTANR Scax-qiedat # gef yfafsear wreflmrely T2 & e arge 9a & €1 Y 57l A1y

All entries in the OMR answer sheet should be with blue/black ball point pen only.

e it 7 TAdeter 1 3uTEATT 3 7 3TTeh! gTer-Eahe/PIeTaTh U §EdER el ATeT|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

ffd afieT Temare 8id & 3iey HICX, Hrahelel, HdIge Bl TUT Hed FlFelieldh S, SI-
TEch, wAle Tfe; STt hT HeTHT 6] ol STTIt| |

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

ofiaT qot 26T T, HITHA SeaR-q e F U & deet ea & w1 3 7 HAAR Seax-gReTw
forfares &t | qur gud ufer s o W |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

eeT-qiecrent 318t 39t U T Fehl 21

The question booklet can be retained by the candidate.

q0ETT & TUH T & NI et By o g Dige Y 3T T B

Candidates are not permitted to leave the examination hall during the first hour of the.examination.
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I 9= - T (9 H. 1405)
CATERING ATTENDANT — A (POST NO.1405)

S Gehdlel @ Jod Teh olel [T HAeAT e TF ofd &, Hl ... FEgd ol
A meal that consists of several dishes from which guests service themselves

(a) 9TRAR&E TSR 6T AdT/Family Style Service

(b) Telc "dT/Plate service

(c) ifﬁ A4T/Buffet service

(d) HIC JaT/Cart service

FET Gy WeA Ay HTaUE HEAA S9E W U
Central Food Technological Research Institute is situated in

(a) é?'l?iF/Bengaluru (b) fm‘\TIMysore

(c) o8 f&eel/New Delhi (d)  TV/Ranchi

led AR & I A E?

Who is the Defence Minister of India?

(a) ﬁlﬁ?{%’lﬁ'ﬂithendraprasad ~ (b)  37HUT Siceil/Arun Jaitley
() a3 AaRAA/Nirmala Sitharaman ~ (d) cI’IF-]TI'?-'HT:!_?W'I?-[/P0nradhalxirishnan

UF F H 100 AT F U F F AT 20 TEH H¥ A@THAr §1 3H F F 5 A
# O FE F AU e TsH A1 smaeEEAT g

20 boys are required to complete a work in 100 days. How many boys are required to complete that
work in 5 days?

(a) 200 (b) 250 () 300 (d) 400
IeeRI@S HT TS ... gl

Capital of Uttarakhand is

(a) I/Ranchi (b)  FTSATe/ Aizawl

(c) ScITglaTG/Allahabad (d)  &@1GeI/Dehradun
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3,49 53HS & URd { Fabcl TABIOT ..o, gl

The triangle with sides 3, 4 & 5 units is

(a) HH®BIOT iaﬂialRight Angled Triangle  (b) Hﬂ?ﬁﬁg’ AeI0T/Isosceles Triangle
(c) wH€TG ehIvT/Equilateral Triangle (d g ehI0T/Acute Triangle

HRA Icad 2019 fF v fohar arame
Who has been bestowed with Bharath Ratna 20197

(a) YUl W/Pranﬁb Mukharjee (b) T & THA/CV Raman
(c) 9TdT grd/Bhagwan Das (d) STagTATel Ag%/Jawaharlal Nehru

fraar 2018 & Afgar e fdaesa dNEaR & ae star
Who won Women’s Singles Wimbledon Championship in 20187

(a) QAT faferew/Serina Williams (b)y =" R_fFE/Venus Williams
(c) TCWHT ATH/Steffi Graf (d) UeoTelld Fe/Angelique Kerber

4 dree A ¥ § 3 g i R yared S & 0T FAER H 8 T F fhaar
gfawet & Barar s afge?

How many resistances of 8 ohms should be joined in parallel to draw a current of 3 amperes from a
battery of 4 volts?

(a) 6 (b) 8 ) 12 @ 15

R 3 I & Tt B WIUROTAAT TS THIT ... gl
Most commonly used chemical for ripening of Mangoes in India is

(2) HTRA FIEfae/Calcium Carbonate
(b) Hfovrad FETg8/Calcium Carbide
(c) hToRMRIA 3fTer@rere/Calcium Oxalate
(d) [ZTA FEAe/Sodium Carbonate

gETfas & @ TP TaHE FIfAURT S HaAT S  RoEar ............ Fed 8l
Rules governing social acceptable behavior is generally termed as:

(a) WTfelcd/Gracefulness (b) fIrseraR/Etiquette

(¢) TgeIdl/Kind heartedness (d) 3FeIRmA«A/Discipline

3/5 @ gfdera & forar se ar ag...eeee & FA g

3/5 written as percentage is equal to

@) 20% (b)  30% ©  25% @ 60%

4 1405



13.

14.

15,

16.

17

18,

18:

geFen T HGEUT T 3TN Felarel SIFed &l ............ HEd ol
A doctor who treats conditions of kidneys is called

(a) ?ZE‘\I'I eltarEe/Urologist (b)  FIfsATefoIEe/Cardiologist
(c) INRUTATSTE/Orinthologist (d)  SIATIEe/Nephrologist

AT H frae Uog 87

How many States are there in India?

(@) 29 (b) 28 (c) 30 (d 27
a’rmrt'rszsa:a@umﬁ%“i IS i gEarHt ¥ 105 ST ST g, d AU 5:9 §T
STAT g1 F37 F&AT & 9dT 9T

Two numbers are in the ratio 5:8. When 105 is subtracted from both the numbers their ratio
becomes 5:9. Find the bigger number.

(a) 60 (b) 64 (c) 54 (d) 40
| T Hlaf-AT JUIEH Hust H F el Hepre & Tgrge §2

What property of soap helps in removing dirt from clothes?

(a) EE{a® fSFAT/Chemical action

(b) T*'&'J delld J9gdad/Surface tension reduction

(c) T=ig«t/Lubrication

(d) pH®AT aﬁ:/ pH value increase

R FHF H Secl TN ST Hehel &, FT?
Cooking is faster in pressure cooker. Why?

(a) TFdh & o/The lid is closed |
(b) Ul 3T dMAT 9T 3TedT g/ Water boils at higher temperature

(c) YT &5 agAH R 3aodT &/ Water boils at lower temperature

(d @ % T g Tueh A& aid/No contact with air

BT FT ITSTHAT o gl

The capital of Bahamas is

(a) TENassau (b)  3Scis/Adelaide

(c) UFHHAN/Exuma (d) T TI30T/Cape town

AR # P vseasd 35 giar g

Least nutrient content in a fish diet:

(a) TE/Fat ‘ (b)  HICIA/Protein
(c) ﬂﬁﬁlg%f/Carbohydrate (d) fgaffs 9 wfas/Vitamins and minerals
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20.

21

22

23.

24.

25.

T & T A FAET-TETD oo T = B
The book ‘My Experiments with Truth’ is written by

(a) T HSell/Nelson Mandela (b) TH & FNN/MK Gandhi
(c) AfeaT o2k fa/Martin Luther King ~ (d)  3TsTgTH foleret/ Abraham Lincoln

aR U3 N qEcash & TR gl

The book —War and Peace’ is written by

(2) AfFHF MG Maxim Gorky (b)  TUeA dUehid/Anton Chekov
(c) oTarfer@=i/Napoleon (@ R SeEera/Leo Tolstoy
IEcATeRYUT T Fadifas HaH ZarT 2r I

The universal law of gravitation was given by

(a) Hcel/Kepler (b)  3ThATEA/Archimedes

(c) Ffaiferdi/Galileo (d)  =gZsI/Newton

87 s A VT FT AAAT oo gl

In PAN card, PAN stands for

(a) UTA THSC Aa/Person Account number

(b) AR U3¢ AaR/Priority Account Number
(c) THC 33T Fe¥/Permanent Audit Number
(d) YA THISE A«Y/Permanent Account Number

SO & TEEG BT s FEd Bl

Japanese parliament is known as

() SZHATDuma (b)  BTIT/Diet

(c) HATIA/Maijlis (d) @13 fA/Council

afrar MRATT F e & A& WE FeEHER & T A fgad fhar =

Gita Gopinath is appointed as the Chief Economic Advisor of

(a) AT facca @/ International Monetary Fund
(b) TTa dF/Reserve Bank

(c) UfIe SaEuHT @/ Asian Development Bank

(d) fa2a d&/World Bank
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26.

27

28.

29.

30.

B 3R AR & Hreare rafdeel & FH WA F o R e £
To minimize pesticide residues in fruits and vegetables:

(2) J9IET H 'Ef\éf 37y @ 90/ Wash them properly before use
(b) BT dTET o/ aig A&TeraT geT &/Remove Outer skin/layer always
(©) Ay ®9 T 3T T Fell § a<hIRAT I ITINET &/

Use organically grown fruits and vegetables

(d) I He/Al of the above

FIAATTHR ] FIAGTE FIH [T e el

First State to introduce Right to Information is

(a) STEATA/Rajasthan (b)  IM3M/Goa

(c) aiﬁaﬂnglTamil Nadu (d) Fc/Kerala
I 9T B 3fF STele T AR & HROT el gl

Burn from steam is severe than boiling water due to:

(a) $9 H 3T &9 &/Steam has high pressure

(b) 9 F 3T ardT ST 372 §/Steam has high thermal energy content
(¢) AT AT, 3T HF Sl Bir 2/Steam has gas, hence burns more
(d) T ST 31 81 SITdT 8/Water cools faster

RF SR 31PRIET ATl T Siefeh AIAT ST 87
Who is called as the 'Father of Indian Economic Planning"
(a) TSENaTeTaRI/Rajagopalachari

(b) #RTHE Ud/Narasimha Rao

(c) =i dr.31R. 3iega/Dr B. R. Ambedkar

(d) TH fIdEGIZAT/M Visveswarayya

B A 9 A H gl & FHIOT BT & AT &l

In Earthenware pots, water gets cooled due to:

(a) THEY 331 §/Clay is cooler

(b) T&al ¥ arsdieioT/Evaporation through pores

(c) ®ch &I 37T ATetehcl/Poor conductivity of pot

(d) HIRT el ¥ d19 I GG JdT g/Pot absorbs heat from water

1405



31.

32.

33:

34.

35.

36.

37.

(@) YIEfATH FARTSS/Potassium chloride
(b) HIR FARTSS/Copper chloride

(c) HfoTH FARSS/Calcium Chloride
(d) W\TBIH FARSS/Sodium Chloride

faeda a0 dar &1 eI FAGTEN TUH TS HlA-AT AT?

Which is the first State to start Electric Bus service ?

(a) T&ATIA Weel/Himachal Pradesh (b)  FHelleah/Karnataka

(¢) f&eoll/Delhi (d) TAFFH/Sikkim
B samsmoness & HNOT 3ol BT 872

Wart is caused by

(a) dQrITH/Virus (b)y  SFEIRA/Bacteria
(c) YIerel3/Protozoa (d)  3HE/Amoeba

Aier-Rew FHhaaR & Fia-a1 gard AR §2

Which material is coated in non-stick cook wares?

(a) dFHATST/Bakelite (b)  THATUT/Teflon

(c) dTET/Copper (d) UsBH/Acrylic
fAseefee &l............. o FEa gl

Short sightedness is also called

l(a) UTEeITAfeH#/ Astigmatism (b)  FIAAT/myopia

(c) BERHACITYA hypermetropia (d)  guiterdl/colour blindness
fereltarg-ger .............. T FFE T

Kilowatt- hour is the unit of

(a) ATFA/power (b)y  FAl/encrgy

(c) HHI/time (d) &dl/force

FIA-TT HAGF A & §T A TgFT Gl 82

Which is used as a magnifying glass?

(a) Hade ol=d/Concave lens : (b) Eﬁ'ﬁw ol=a/bifocal lens
(c) 3cdel wed/convex lens (d) HHAJS Tl /plain glass
8
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38.

34.

40.

41.

42.

43.

AT 1 3aReT 7 doe & v FuiRa sa &1 Fee gl

Mission of ISRO to send human beings to space

(a) drTHUH/PSLY (b)  IWETAANA/Gaganyaan
(c) TgIT/Chandrayaan (d)  FHITer A/ Mangalyaan
qE AT FEAUT . 9 # ua g

Master Control Facility (MCF) is located at

(a) Q;UT/Pune (b)  gTH«I/Hassan

(c) &N/ Gadanki (d) TRIecier/Shillong
;15 W fagga &1 3ngfd & Sl B

In India Electricity is supplied at
(a) 230V-50Hz (b) 110V -50Hz (c) 220V-60Hz (d)

PVC stands for

(a) PEPRA [da8a FARES3/Phosphorous Vinyl Chloride
(b) difer faa8e FeRIS3/Poly Vinyl Chloride '
(c) Uel fdeAedl FRIES/Penta Vinyl Chloride

(d) G & FERTES/Poly Voly Chloride

Rrfaf@d & ¥ Si9-91 vares dF 78 82

Which of the following is not an Operating System?

(a) UHATH-IF/MS-DOS (b) foeed/Linux
() U+3Igs/Android (d  SIdi/Java

dEvs Bl &1 Ades #4182

What is meant by PDF format?

(@) SR ?FF{JTC $R#A/Professional Document Forum
(b) G é”IEF{JﬂE w#e/Personal Document Format

(c) oréed S’IW(?E' wIe/Portable Document Format

(d) e 3‘[@3‘6 WHIgel/Printable Document File

9

110V-60 Hz
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44.

45.

46.

47.

48.

49.

50.

a’ra?rs‘rtﬁ's'EA@raﬂm%g%mHmsﬁﬁr.ﬁqﬁaﬂﬁ%nﬁaﬁﬁwﬁm:ﬁ
aur drer 2 A T qur R gt @ a1 3R Hq3 awr R d@en 7% L g Tell ag

AT 3T uise & fFw feem & &2

Joshi started from point A and walked straight 5 kms west and turned left and walked straight 2 km
and again turned left and walked straight 7 Kms. In which direction is he from the point?

(a) 3cal Ya/North East (b)
(c) GM&IoT qd/South East (d)

fFafaf@a § O e a8 Fia-ar g2
Which is 'Fossil Planet'?

(a) ‘{Iﬁ?/Venus (b)
(c) Wﬁ/Pluto (d)
23 x 42T A ............ gl

The value of 2° x 4% is

(a) 24 (b) 48 ()

ARG # Ieddd SNTEE & fahdetr g7
What is the highest GST rate in India ?

(a) 18% (b) 24% (c)
gfg 2% =128, AV x T AT .ooeoo...... gl
If 2% = 128, then the value of x is
(a) 15 (b) 6 (c)
otiaedisied T JHad 3T ... gl
The organ affected by Conjunctivitis is --------------
(a) Ye/Stomach (b)
(c) @Id/tooth (d)
g 38T STTE A FAATAT AT B
Hornbill Festival is celebrated in
(a) AETAT/Meghalaya (b)
(c) 3N3AM/Orissa (d)
10

zfaor 9f¥ga/South West
3cd¥ af¥gH /North West

HITA/Mars
&/ Moon

128 : d) 64

28% @) 30%

0 (d 8

let/Ear
3TW@/Eye

ATMeis/Nagaland
JATE/Punjab
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g1

2.

53.

54.

95.

55

o7.

Synonym of the word ACQUAINT is

(a) Conceal (b)
(¢) Refusal (d)
Antonym of CONFER is

(a) Grieve (b)
(¢) Look (d)
What time ?

(a) the train leaves (b)
(c) isthe train leaving (d)

Which word is spelt correctly?

(a) possesess (b)
(c) possesses (d)
The bells ring regular intervals the day
(a) at, through (b)
(c) on,off (d)

Familiarize

Abandon

Explore

Disallow

leaves the train

does the train leave

posseses

poseses

in, from

for, in

Pointing towards Thara, Syam said “ I am the only son of her mother’s son”. How is Thara related

to Syam?
(a) Aunt (b)
(c) Mother (d)

Niece

Cousin

Which one of the given responses would be a meaningful order of the following words?

. River
2. Cloud
3. Ocean
4.  Rain
5 Sea
@ 1,3.425 (b)
© 4,3,2,51 (d)

11

2,4,1,5,3
5,1,3,4,2
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58.

59.

60.

61.

62.

63.

64.

The Hon’ble Minister the prizes to the winners
(a) gaveup (b) giveup
(c) gave away (d)  given away

Vineeth said “ I am very tired now.” This sentence can be reported as

(a) Vineeth said that he is very tired now
(b) Vineeth said that he was very tired now
(¢) Vineeth said that he was very tired then

(d) Vineeth said that he has been tired then

‘Bolt from the blue’ means

(a) Blue coloured bolts

(b) Lightning and thunderstorms
(¢) Blue oceans

(d) Sudden unexpected events

Find the correct spelt word

(a) Recieve (b)  Receive

(c) Receeve (d) Resieve

We know he has ----------------- his children beautifully

(a) brought on (b)  brought out
(c) brought up (d)  brought about
He has been sick =-=-====mennn-- the day he arrived

(a) for (b) on (¢) from

What is the synonym of 'Reprimand'

(a) Rebuke : (b)  Praise
(¢) Punish (d) Reward
12

1405



65.

66.

67.

68.

69

70.

@ & eI FRT & AT 3R & gea 31¥ 3nfeg giftes acd o gl

The nutrient in food that is most essential for the proper functioning of eye is :

(a) TIeT&eT A/Vitamin A (b)y Terf@a B/Vitamin B
(¢) faf@s C/vitamin C (d) T D/Vitamin D
i@ & 4 wie-ar qurie g2

Which of the following is a whole number ?

(a) 4.35 (b) 7

(c) 3/4 ‘ (d) 473

FIRSATAD, oo, # @S Fr 3egaa g

Cryogenics is the study of things at ------- L —

(a) 3T d9ATA/High temperature

(b) T@i&=T ATIATA/Low temperature
(c) T TI&/Low pressure
(d) 3=U <&Td/High pressure

BT 2018 faeg &9 & faorar ......... 2l
FIFA 2018 World Cup Winner is
(a) 3TSI=TEIAT/Argentina (b) - WId/France
(c) 3cTel/ltaly (d)  3recforn/Australia
196 & FAHA ............ gl
Square root of 196 is
(a 7 (b)y 19 (c) 14 (d) 13
HRA T TSET T ......... gl
The national flower of India is
(a) A/ Lotus (b) TN/ Tulsi
(c) JTelms/Rose (d)  SIg1/Jasmine
13
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71.

72.

73.

74.

15.

4/[(5-3%2)/2] &N HeA coocvrrcrnn. & SR gl
The value of 4 /[ (5-3 x2)/2] isequal to

(@) 4 (b -8 (c) 4 (d) 8

oot R & Gafa e # o Fgd Bl

The study related to new born babies is
(a) SFIfsATAS/Cardiology

(b) YUTersl/Pathology

(c) fea=teiersi/Neonatology

(d) ﬁﬂT’ﬁ%ﬂGﬁ/Gilﬂ&GCOlOg}f

A A, A1 7 Bl A B FA T 901 A I HA Tge SoThT Fel I fehcter Ar?

The total of the ages of Neethu, Neena and Sony is 90 years. What was the total of their ages five
years ago?

(a) 74 HTA/74 years (b) 75 9WTA/7S years
(c) 76 TTA/76 years (d) 85 HTA/85 years
frfaf@a MR (e, 3, 3, SR A Al TAE AN T @ e gl

The common nutritional factor in the following food is (Rice, Wheat, Potato, Tapioca):
(a) ferf@=/Vitamin C

(b) 9EA/Protein

(c) 3ATS3A/Iron

(d) TEfET83e/Carbohydrate

Atom Bomb is based on the principle of

(a) ATHPT fd@sa/Nuclear Fission

(b) ITAERT fATHEIT MNuclear Explosion
(c) Tarafas [@T®IT/Chemical Explosion
(d) 3TTeisi/lonisation
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76.

77.

78.

79.

80.

wmﬁ,ﬁﬂﬁrmﬁﬁm%ﬁmﬁwwglgﬁﬁwwﬁw

AT €2/In a queue, Mini’s position is 7" from the front and 10" from back. Total how many
persons are there in the queue? '

@ 15 (b) 16 © 17 d) 18

Ife 14.04.2013 TWEaR §, @r 20.09.2013................. gl
If 14.04.2013 is Sunday, then 20.09.2013 is

(a) Rshary/Friday

(b) TdAR/Sunday

(c) W/Tuesdaf/

(d) TUAR/Wednesday

8% % & W 39¥ & AT 1250 TUT HT [ERVT &I ............ gl

The simple interest of Rs. 1250 for 3 years at 8% rate is

(a) 300 (b)y 250

(c) 450 (d) 500

gt @ |l F F Aot 1 a9 ARe. CaRT HT B
To destroy germs completely in utensils and tools, we can achieve by:

(a) HIH-HHIS/Cleaning (b) dmY9«I/Heating

(c) TSI/ Sterilizing (d) WTU_'_!‘?{TQH/Disinfecting

g v A wisfher 12 e 7 9 FFA gl a o &, a9 &, iy a2 & sudr afay
........ &1 If a bike covers 9 km in 12 minutes, then its speed in km/hr is

(a) 54 (b) 48 c) 45 (d) 108

ok o o ok ok ok ok
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